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QUESTION ) @

If two roots of the equation (x —1)(2x* —3x+4) = 0 coincide with roots of the
equationx® + (a+ 1)x* + (a+ b)x + b = 0 where a,b € R then 2(a + b) equals
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QUESTION ) (KTK 6) @
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QUESTION > (KTK 8)

af %

If o, B,y are roots x> + 2x? — 3x + 1 = 0, then value of — + — + —L js less than
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QUESTION > — @

If o, B,y are roots x> + 2x% — 3x + 1 = 0, then value of 20 +—L 4 LY isless than
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Analysis of a Quadratic Polynomial>
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Analysis of a Quadratic Polynomial)
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Graph of a Quadratic Polynomial vs D Y=ax’+bx +C
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Graph of a Quadratic Polynomial vs D Y= ax*+bx +C o

ax+bx+C=0
Case@ £ =0

" s QCO
o, ¥ , . .
(w1fa>0y- -2 =0 Sl =

Nt e " HQ

—%[aq

Q>0 >3

D=0 8o

>% D=0
-y
20

* TWwo veo } ool

N



> X

>
Y=o rre <0 ¥ 2<¢o AD <Y
Depy -



Important Points>

(1) Ifa>0andD<O0Otheny=ax?+bx+c>0forallxeR
(2) Ifa<0andD<Otheny=ax?+bx+c<0VxeR

(3) ax?+bx+c>VxeR D<0 -
D=0ifa>0&D<0

(4) ax’+bx+c<0VxeR P



QUESTION )

Consider graph of y = ax? + bx + ¢ as shown above, comment on signs of
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If f(x) = ax? + bx + ¢ then remember
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QUESTION >

Consider the graph of quadratic polynomial y = ax? + bx + ¢ as shown below. Which of

y
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QUESTION )

Gy

The graph of y = ax? + bx + c is shown in the figure, then which of the following is(are)

correct?
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QUESTION >

The graph of quadratic polynomial f(x) = ax? + bx + ¢ is shown in below. Which of the

following are correct?
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QUESTION )

The curve of the quadratic expression y = ax? + bx + c is
shown in the figure and «, 3 be the roots of the equation
ax? + bx + ¢ = 0 then correct option is

[D is the discriminant]
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QUESTION ) YA A KCLS Wik @

Ifax? + bx+ c=0hasnorealrootanda+ b + c < 0 then y=ax=tbx+c =£(x)
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[f quadratic function f(x) touches x-axis at x = 3 and crosses y-axis at (0, —2), then find
f(7). T
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QUESTION )

Draw graph of following quadratic :
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QUESﬂON) L

Ifa+b+c> -i—c and quadratic equation ax® + 2bx — 5¢ = 0 has non-real roots, then
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QUESTION >

Find the set of values of a for which (a-1)x?-(a+ 1)x+a+1>0forall x € R.
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QUESTION >

Find the set of values of a for which (a + 4)x? - 2ax+ 2a-6<0forallx € R.



QUESTION >

TJawob
For what values of p the vertex of x* + px + 13 lies at a distance 5 unit from origin.
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QUESTION )
Ify = x? — 3x — 4 then find the range of y when
(i) x€R (i) x € [0,3] (iii) x € [~2,0]
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QUESTION >

Ify = x* — 3x — 4 then find the range of y when
(i) x€R (i) x € [0,3]
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Solution to Previous TAH



QUESTION [JEE Mains 2020 (9 Jan)] ) @

Let a,b € R,a # 0 be such that the equation, ax? — 2bx + 5 = 0 has a repeated root «,
which is also a root of the equation, x* — 2bx — 10 = 0. If B is the other root of this
equation, then a? + 32 is equal to:
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Ans. D
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QUESTION >

If the equation x* —4x+ 5 = 0 and x* + ax + b = 0 have a common root, find a and b.
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QUESTION [JEE Mains 2013] )

If the equations x* + 2x + 3 = 0 and ax* + bx+ ¢ = 0,a,b, c € R, have a common root,
thena:b:cis

Ans. A
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QUESTION ) A AKCLS Ak

If the equations ax® + x+ 2 = 0 and x® + ax + 2 = 0 have exactly one common root,

find the value of |a|. o xZ e e, Y
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QUESTION ) &

If two roots of the equation (x —1)(2x*—3x+4) = 0 coincide with roots of the
equationx® + (a+ 1)x* + (a+ b)x + b = 0 where a,b € R then 2(a + b) equals
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Solution to Previous KTKs



QUESTION ) (KTK 1) &

If a, B are the root of a quadratic equation x* — 3x+ 5 = 0 then the equation whose
roots are («? — 3a+ 7) and (B2 — 3B+ 7) is

@ x°+4x+1=0
X2 —4x+4=0
@ x2—4x—-1=0
@ x2+2x+3=0

Ans. B
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QUESTION > (KTK 2)

The equations ax? +bx+a=0(a,b€R) and x® —2x?*+2x—1 =0 have 2 roots
common. Then a + b must be equal to
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Ans. C
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QUESTION > (KTK 3) @

b
+
X+a+m Xx+b+m

The value of m for which the equation = 1 has roots equal in magnitude

and opposite in signs is

a—b>b
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QUESTION ) (KTK 4) &

Find the values of 'k’ so that the equation
x? 4+ kx+ (k+ 2) = 0and x? + (1 — k)x + 3 — k = 0 have exactly one common root.

Ans. No possible value of k
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QUESTION > (KTK 5)

Given a, b are two distinct real number satisfying
a’-5a+2=0andb%?-5b+ 2 =0 then (1 -ab + a?b + b%a)
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QUESTION >

Let 'p' is a root of the equation x?
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(KTK 6)
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QUESTION )

a+1

B+1.
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ax+ 1?2 +bxx+1DE—-2)+c(x—2)2=0
ax—2)2+bx+1D)E—-2)+c(x+1)?=0
a2x+3)2+bxx+1DE+2)+c(x+2)?2=0

a2x+1)?+b2x+1Dx—-1)+c(x—1)*=0
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If « and B are the roots of ax? + bx + ¢ = 0, then the equation whose roots are

Ans. D
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Solution to Previous Home Challenge



Home Challenge - 08>

The ordered pair (x, y) satisfying the equation
x> =1+ 6log, yand y? = 2Xy + 2%**1 gre (x4,y,) and (x,,y,), then find the value of

log, |X1X2y1Y2|.

(Ans:7)
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